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QUESTION 1

In Huawei OceanStor 9000, a node pool is a collection of nodes that have the same characteristics such as physical
type and access performance, and dynamic storage tiering a user to group physical nodes in the same file system into
different node pools. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

You are required to check the installation environment before installing software on an OceanStor 9000 storage system.
Which of the following conditions does not meet these requirements? 

A. The OceanStor 9000 consists of three P nodes and one C node. 

B. The storage nodes run SU5E Linux Enterprise Server 11 (x86_64) SP1. 

C. The PC used for installation runs Windows 7. 

D. The PC used for installation runs Internet Explorer 9. 

Correct Answer: A 

 

QUESTION 3

When configuring file systems for the N8500 clustered NAS storage systems, you are advised to configure a file system
size not larger than 32 TB and the size of small-file storage applications not larger than 16 TB to achieve satisfactory
reliability and data recovery speed. (The small files here refer to the files with an average size of 1 MB.) 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

An N8500 clustered NAS system is equipped with four engine nodes and each engine node provides four service
network ports. How many virtual IP addresses must be planned for the N8500? 

A. 15 

B. 16 

C. 17 
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D. 18 

Correct Answer: C 

 

QUESTION 5

The InfoLink function is enabled on an OceanStor 9000 storage system. If the node to which a client connects becomes
faulty and a failover occurs, which of the following statements is incorrect? 

A. If the client accesses a shared directory through CIFS, the failover will cause disconnection and the client will need to
reconnect to the storage system. 

B. If the client accesses a shared directory through NFS V4, the failover will cause disconnection and the client will need
to reconnect to the storage system. 

C. If the client accesses a shared directory through NFS V4, the failover will not affect the connection. 

D. If the client accesses a shared directory through NFS V3, the failover will not affect the connection. 

Correct Answer: C 
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